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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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newty =0, 0, 1 relative blacknessn*y
relative chroma c%y
Wy neither yellowish
w_ nor bluish (h*;=0)

newty =0, 0, 1 relative blacknessn*y
relative chroma c*y
Wy neither redish
w, nor greenish *4=0,25,

Ostwaldequation new’y = Ostwaldequation new’y =
V| marcqgrw=1 01,0 V| marcrgrw=1 J'OOQdO'LO
n*g Device (d) colour n*q Device (d) colour
&~ of maximum &~ of maximum
n*y relative chroma n*q relative chroma
» (€= , D)
N ncwy=1,0,0 Cd; N ncwy =1,0,0 Cd;
1E090-1N IE090-2N

icw*; =1, 0 1 relative brilliance i*g
T relative chroma c*y
Wy neither yellowish
w, nor bluish (h*;=0)

Richter equation
i*g = C*y + W "

d d d r00jq
Device (d) colour
of maximum
relative chroma
(¢%¢=1)

jicwty=1. 0 1 relative briliance i*y
T relative chroma c%y
Wy neither redish
w, hor greenish (*4=0,25

Richter equation llcwl* =
i*=c* +W* - , 1,
d d d j00gy
Device (d) colour
of maximum

relative chroma
(c’g=1)

ncwty =0, 0, 1 relative blacknessn*y
relative chroma c%y
Wy neither yellowish
w_ nor bluish (h*4=0,5)

newty =0, 0, 1 relative blacknessn*y
relative chroma c*y
Wy neither redish
w, nor greenish (*4=0,75,

; — c* . _ c*
N icwty=0,0,0 Zdg N icwty=0,0,0 Zd
IE091-1N IE091-2N
W Yvem 101 et | [y (NYowas 10,1 e e
d (]
t*q Wy neither yellowish t*g Wy neither redish

w, nor bluish (h*;4=0,5)

Richter equation
i*g =C* + Wy

nor greenish (*3=0,75

Richter equation
i*g =C*q + Wy

Ostwaldequation ncwty = Ostwaldequation new’y =
‘J’ N*g+Cc%+wWy=1 bjO,l,O ‘l’ N*g +c¥y+wsy=1 0.1.0
* *
Ny Device (d) colour N%y Device (d) colour
of maximum of maximum
n*y relative chroma n*y relative chroma
» (©a=1) (¢%=1)
N newy=1,0,0 Cd g N newty=1,0,0 Cd g
IE090-3N IE090-4N
= relative blacknessn*y k= relative blacknessn*y
W new =0,0,1 relative chroma c*y W ncw’y =0,0,1 relative chroma c*y
t*q 75% Red R and 25% t*q W*y 75% Yellow J and 25%

= Yellow J (h*;4=0,06)

AN Green G (h*4=0,31)

.1‘ g00ky .1‘ b00ry
x Device (d) colour x Device (d) colour
! of maximum I of maximum
relative chroma relative chroma
(¢%¢=1) €=
N icowy=0,0,0 Cld g N icwy=0,0,0 Cld
IE091-3N IE091-4N
iCWry = relative brilliance i*g iCWry = relative brilliance i*gq
W iow’q =1, 0,1 relative chroma c*y W low’q =1,0,1 relative chroma c’y
t*g W¥y 75% Red R and 25% t*y Wy 75% Yellow J and 25%

= Yellow J (h*;4=0,06)

Richter equation
i*g =C* + Wy
Device (d) colour

of maximum
relative chroma

(c'q=1)

A Green G (h*3=0,31)

Richter equation llcwl* =
i* =% + W - , 1,
d d d 2504
Device (d) colour
of maximum

relative chroma
(c’g=1)

Ostwaldequation new’y = Ostwaldequation new’y =
V| matcqgrw=1 0.1.0 V| marergrw=1 j259d0’1’0
* *
Ny Device (d) colour N%y Device (d) colour
&~ of maximum &~ of maximum
n*y relative chroma n*y relative chroma
 (©a=1) (€=
N newy=1,0,0 Cd g N newty=1,0,0 Cd g
IE090-5N IE090-6N
= relative blacknessn*y k= relative blacknessn*y
W new 0.0.1 relative chroma c%y W new 001 relative chroma c%y

t*q Wy 75% Green G and 25% t*q W¥y 75% Blue B and 25%

= Blue B (h*;=0,56)

Ostwaldequation new’y =
n*g+c*%+wry=1 b:lo’ 10
Device (d) colour
of maximum

relative chroma
(€=
newy=1,0,0 Cd g

w_  RedR(1=0,81)

Ostwaldequation
N*g +c¥y+wsy=1
Device (d) colour

of maximum
relative chroma

(c'g=1)

n*y

*
ncw’y=1,0,0 Cd;

IE090-7N

IE090-8N

; — c* f _ c*
N icw*y=0,0,0 d N icw*4=0,0,0 d g
IE091-5N IE091-6N
w (O)iewa=1,0,1 gaive iliance s w (O)iewa=1,01 (g illance s
d d
t*q W*y 75% Green G and 25% t*g Wy 75% Blue B and 25%

= Blue B (h*;=0,56)

Richter equation
i*g =C* + Wy
Device (d) colour

of maximum
relative chroma

(c'g=1)

. *
icw*y=0,0,0 Cd;

. RedR(1=081)

Richter equation
i*g =C*q + Wy

b25ry4
Device (d) colour
of maximum
relative chroma
(c’g=1)

. _ C*

icw*3=0,0,0 d S

IE091-7N

IE091-8N

TUB-test chart IE09; Ostwald- and Richter-equation
Colours and relative blackness and relative brilliance*
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output:no change compared to input
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